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Question Id : 92090616905 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

frefefiad wams + SFYEs Tgt 99l & I i -

3 wdi-adl Hitd witg A W g,
i ® S FHe g9 I &
92 Wl 1§ A B IEFT M,
T, 39T E G gHEAl AT 8§
fema d gan 5301, |ee, Hie- Al
qTeT U1, Hi5 59 feea staar o
9 df @&d 8 He, R, T % Wi
I8 Foea< 84 8 off sg= At o
=M faft Wo3E 3 7 Ion 6.,
31 T oft &l 019 B wedt 27
i@l % 3 74 % He Fa1 I,
F8 "ra-ong g 9w gv & 2|
Sub questions
Question Number : 1 Question Id : 92090616906 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H H 39 W5 1 994 shitae e o Eer g @ -

(1) =hedld~d (2) 943
(3) @ (4) ¥
Options :

92090666801. 1
92090666802. 2
92090666803. 3
92090666804. 4

Question Number : 2 Question Id : 92090616907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR % HTHN W A feeg 3gant a1 -

(A) I I
(B) ®Te®
(C) =9
(D) HeAEA
(B) =

Fra feu Tu fashedi § ¥ TEH ITgE IT H FI4 HIfAC
(1) % (A)F (B)
(2) Haa (C) T (D)

(3) I (E)
(4)  HaA (O)
Options :

92090666805. 1
92090666806. 2
92090666807. 3
92090666808. 4

Question Number : 3 Question Id : 92090616908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fema § =19 gan g3 o1 -
(1) e, WeT-9Tel Sersh
(2) =/

(3) @14

(4) g

Options :

92090666809. 1
92090666810. 2
92090666811. 3
92090666812. 4

Question Number : 4 Question Id : 92090616909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T H U W A &1 faem wee 2o -

(1) ™=
(2) 4=«
(3) =
(4) W&
Options :

92090666813. 1
92090666814. 2
92090666815. 3
92090666816. 4

Question Number : S Question Id : 92090616910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qH d 8 B,

I STl 1 TR 6 HATYW T HH H e -
(A) I8 Fog< g9 8 Wt sge I

(B) W T & gt

(C)  Ia AT ot el W B whdt ?

(D) = farht wo3m 3 <t Ion =

(B) %o "r=-gug g = 9v =@ 2

A feu o fashedi § | |E I F 95 it ¢
(1) (B), (A), (C), (D)3 (E)
(2)  (B),(A), (E), (C)F (D)
(3)  (B), (A), (D), (C)F (E)
(4)  (B), (A), (E), (C)= (D)

Options :
92090666817. 1



92090666818. 2
92090666819. 3
92090666820. 4

Question Id : 92090616905 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

fFreferfia T +i eHYEs Tet 99l & I gt -

9 991-991 Hid g | il 7,
Ut § FE A g& I 8|
98 Wl H o 7Y IHH I,
AL, AT & T FEAT AT 8
fema o g B30, B, Hie- A
gTeT% o1, HI5 Y fesr smEand 9
a9 d1 *&d 8 He, W, ¥ % i
98 Fad 89 § of gg A o1
g fagft wogm 3 & gow T,
31 AT i FET {4 & FEwd 2 e
@l & 3ATg 749 % He a1 T,
8 Ta-a9g g 9= 99 @ 2

Sub questions

Question Number : 1 Question Id : 92090616906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H H 39 e I 994 shitag foamen 1o S g # -

(1) = (2) T4
(3) F@ (4) A
Options :

92090666801. 1
92090666802. 2
92090666803. 3
92090666804. 4



Question Number : 2 Question Id : 92090616907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T % YR W HH fosg sEan o -

(A) I I
(B) ®Te®
(C) =9
(D) HeAEA
(B) =

Fra feu Tu fashedi § ¥ TEH ITgE IT H FI4 HIfAC
(1) % (A)F (B)
(2) Haa (C) T (D)

(3) I (E)
(4)  HaA (O)
Options :

92090666805. 1
92090666806. 2
92090666807. 3
92090666808. 4

Question Number : 3 Question Id : 92090616908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fema § =19 gan g3 o1 -
(1) e, WeT-9Tel Sersh
(2) =

(3) @14

(4) g

Options :

92090666809. 1
92090666810. 2
92090666811. 3
92090666812. 4



Question Number : 4 Question Id : 92090616909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gerTel § 370 viee ‘O &1 ey wree B -

(1) ™=
(2) e
(3) @
(4) T&H
Options :

92090666813. 1
92090666814. 2
92090666815. 3
92090666816. 4

Question Number : 5 Question Id : 92090616910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qu T wEd 8 e,
3T IS HI TR % SMER W H H e -

(A) ¥8 Hera g9 3 ot s Al
(B) ®H 54 % Him
(C)  3aa1 ATt ot HEf W B Hepell B
D) o= fart wogm 3 S Jon v
(E) %® Hr=-5og frgan =r 9v wd 2
W feu e fapedi # | | I F1 97 i
(1) (B), (A, (C), (D) (E)
(2)  (B). (A), (E), (O)3F (D)
(3)  (B), (A), (D), (C)F(E)
(4)  (B), (A), (E), (C)F (D)

Options :

92090666817. 1
92090666818. 2
92090666819. 3
92090666820. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
920906545
Yes

null

Question Number : 6 Question Id : 92090616911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fafiga o @ gfafaa a= fafza $ifsw:
(1) 39 gmar i feeeht @4 8
(3) 3 O ft feeeft § =t 21

(2) IHeht TTaT St feoett =4 21
(4) 35k Tren Sft feeeht O @4 2



Options :

92090666821. 1
92090666822. 2
92090666823. 3
92090666824. 4

Question Number : 6 Question Id : 92090616911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefefaa % | gfefza am fafea Fifsw:

(1) 35 °rar S feeett B4 81 (2) Fmeh! O S feoedt w®a 21
(3) 3Tt gray it feeett § @& 21 (4) F&eh graT 1 feeett § & B
Options :

92090666821. 1
92090666822. 2
92090666823. 3
92090666824. 4

Question Number : 7 Question Id : 92090616912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafiga ameT #i @& w9 |

(A)  gHifere adae 7 i Al 7 wad @
(B) TE-TE % U I4 Hre=el 2

(C)  SA-=1 usg 1 HETHA agdl Al B
(D) @t TU-AT IFrfersh Ed &

(B) -7 v 3wht g % fer

Fr= feu v fasredi ® 9 |81 I &1 954 FIfS
1) (B, (B), (D), (A) 3 ()
2 (B). (0), (A), (D) 3 (E)
(3) (). (B), (B), (C) 3T (D)
@) (0. (B), (B), (D) 3 (A)

Options :

92090666825. 1
92090666826. 2
92090666827. 3
92090666828. 4

Question Number : 7 Question Id : 92090616912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafiga ameT #i @& w9 |

(A)  gHifere adae 7 i Al 7 wad @
(B) TE-TE % U I4 Hre=el 2

(C)  SA-=1 usg 1 HETHA agdl Al B
(D) @t TU-AT IFrfersh Ed &

(B) -7 v 3wht g % fer

Fr= feu v fasredi ® 9 |81 I &1 954 FIfS
1) (B, (B), (D), (A) 3 ()
2 (B). (0), (A), (D) 3 (E)
(3) (). (B), (B), (C) 3T (D)
@) (0. (B), (B), (D) 3 (A)

Options :

92090666825. 1
92090666826. 2
92090666827. 3
92090666828. 4

Question Number : 8 Question Id : 92090616913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % Ty g=A-11 1 frem Hifs

g1 g=fi-11
A Fenmdfwaas () =ggE
(B) i arhd & () HgHIR
(C) <% 4| Hg arel (I11) Femsie
(D) g T HaR (IV) W&

H= feu v fompedi ® & AE I &1 999 Sifau .

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(T)
@)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3)  (A)-1), (B)-1V), (C)-(D), (D)-(1T)
4 A)-D, (B)-1I), (C)-1V), (D)-(ILD)

Options :

92090666829. 1
92090666830. 2
92090666831. 3
92090666832. 4

Question Number : 8 Question Id : 92090616913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 & = g1 1 frem Hifse
g1 g1
A Fenmdfwaas () =ggE
(B) i arhd & () HgHIR
(C) <% 4| Hg arel (I11) Femsie
(D) ®TE T HaN (IV) W&

H= feu v fompedi ® & AE I &1 999 Sifau .

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(T)
@)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3)  (A)-1), (B)-1V), (C)-(D), (D)-(1T)
4 A)-D, (B)-1I), (C)-1V), (D)-(ILD)

Options :



92090666829. 1
92090666830. 2
92090666831. 3
92090666832. 4

Question Number : 9 Question Id : 92090616914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gei1-1 & |g g=Hi-11 %1 frem Fif
-1 H=1-11
(A) FEA () 9
(B) == (II) g+
(C) &+ (I11) gferpen
(D) FFE| (IV) =

dr= feu o faemegi © ¥ B I+ 994 Fifdu

(1) (A)-(IV), (B)-(D). (C)-(T), (D)~(I1I)
(2)  (A)-(D), (B)-(IV), (O)-D), (D)-(D)
(3)  (A)-dI), (B)-(ID), (C)-(IV), (D)D)
(4)  (A)-(D), (B)-(ID), (C)-AV), (D)-(11)

Options :

92090666833. 1
92090666834. 2
92090666835. 3
92090666836. 4

Question Number : 9 Question Id : 92090616914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g=1-1 % @y g=i-11 %1 fgem $ife .

Tt-1 g=i-11
(A) FEA () i
(B) 3 (IT) e
(© &M (I11) Sfeiget
D) w=A (IV) =@

dr= feu 7o fa=eTi © 9 B I w1 994 Fifew

() (A)-V), B)-(ID), (O)-(D), (D)-(ILI)
(2)  (A)-(IID, (B)-(IV), (C)-(1D), (D)-(I)
(3) A1), (B)-(1), (C)-(IV), (D)-(D)
(4)  (A)-D), (B)-(ID), (C)-(AV), (D)-(11])

Options :

92090666833. 1
92090666834. 2
92090666835. 3
92090666836. 4

Question Number : 10 Question Id : 92090616915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefafaa § @ denifE #1 v

(A) ©El 1 FE T R A G H

B)  Fu =t sem um

(€) 3 % =g A3H

(D) HAR % @MY 5= | g o1 2

e feu e kel § | |8 I F1 95 A
(1) (A JR(B)

2  (B) 3R (D)

3 (B)3M(C)

(4 ()3 (D)

Options :



92090666837. 1
92090666838. 2
92090666839. 3
92090666840. 4

Question Number : 10 Question Id : 92090616915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafaa 4 & e 1 wwaH
(A) 9Tt 1 FA T W FH T GR H
(B) 3o Ra=st sem e
(C) 3 F =re e
(D) 37 % |y g1 i frg e 2
Hr= feu o fasedi § | |8 I #5197 i .
(1) (&) 3R (B)

2 (B) 3R (D)
3) (B) 3R (C)
(1)  (C) 3 (D)

Options :

92090666837. 1
92090666838. 2
92090666839. 3
92090666840. 4

Question Number : 11 Question Id : 92090616916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU |1 § T forad A1 99 Fufea e W 99e & |ee 1 Headl 919 & JRAf 7

(1) 30fe (2) 60 fam
(3) 90 fe (4) 120 f&=
Options :

92090666841. 1
92090666842. 2



92090666843. 3
92090666844. 4

Question Number : 11 Question Id : 92090616916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU w1 § i forar i 9% 3ofRm e W 99e % 9o &1 9eEd 9uTd & S 7

(1) 30f= (2) 60 f&=
(3) 90 f&@ (4) 120 fe=
Options :

92090666841. 1
92090666842. 2
92090666843. 3
92090666844. 4

Question Number : 12 Question Id : 92090616917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferea diam (Aeiersh) feam < w9m@ ST 87

(1) 1694 (2) 20 318
(3) 20w (4) 20 34
Options :

92090666845. 1
92090666846. 2
92090666847. 3
92090666848. 4

Question Number : 12 Question Id : 92090616917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferea diam (Aeiersh) feam < w9m@ ST 87
(1) 16 9 (2) 20 3=
(3) 20m8 (4) 20 3nra

Options :



92090666845. 1
92090666846. 2
92090666847. 3
92090666848. 4

Question Number : 13 Question Id : 92090616918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R § e e § avaad I g3 e

(1) = giwag (2) ©E% ATE FHEm
(3) AT\ FW (4) HTeA-U-HATTH
Options :

92090666849. 1
92090666850. 2
92090666851. 3
92090666852. 4

Question Number : 13 Question Id : 92090616918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9Td H T fhed 8 9weEs IR g3 7

(1) T EiwEs (2) ©E® HATE FON
(3) H&H HAM (4) HTeA-U-HATTH
Options :

92090666849. 1
92090666850. 2
92090666851. 3
92090666852. 4

Question Number : 14 Question Id : 92090616919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T = 30 FEl T= i TEaH hIae (o [g%g U9, 00,377, 9aH TG0 2l 2|

(1) @&, T, Fael (2) oAt TG, T&el
(3) e, Fumm, f&@E (4) @|U, Tagan, f#E
Options :

92090666853. 1
92090666854. 2
92090666855. 3
92090666856. 4

Question Number : 14 Question Id : 92090616919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TN & 39 T =9 I Tg9H Hifae 9 f9%g 19.10.37, J96H 390 26t 2

(1) @0, TEgHA1, Sl (2) TelfE, TG, &l
(3) weifen, Famw, &g (4) @&, Tergan, s
Options :

92090666853. 1
92090666854. 2
92090666855. 3
92090666856. 4

Question Number : 15 Question Id : 92090616920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form R 1 W @ i | TEen @ SuEed g e 87

(1) =it (2) Higreh
(3) wES (4) g9
Options :

92090666857. 1
92090666858. 2
92090666859. 3
92090666860. 4



Question Number : 15 Question Id : 92090616920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form R 1 Rty @ 3 vEen @ wuErer wnfia fe e

(1) ieihmr (2) wiget
(3) ©ETH (4) Fomax
Options :

92090666857. 1
92090666858. 2
92090666859. 3
92090666860. 4

Question Number : 16 Question Id : 92090616921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Feferfaa g@en 4 el Je sany

21, 35, 53, 76

(1) 105 (2) 109

(3) 101 (4) 99
Options :

92090666861. 1
92090666862. 2
92090666863. 3
92090666864. 4

Question Number : 16 Question Id : 92090616921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21, 35, 53, 75

(1) 105 (Z) 109

(3) 101 (4) 99
Options :

92090666861. 1



92090666862. 2
92090666863. 3
92090666864. 4

Question Number : 17 Question Id : 92090616922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa @ 9 v w5 3 7 ey fog ™ €1 o9 % amar s fewai &1 g9dieo

FY : A1 A= va ot Sl 1 v gaEt 21
e

(i) e 3 St S % @ 5= E)

(ii) AT T 1S q1S TE B

(i) HHT =1 U Hidenl 915 &l

(1) =a (i) AP &1 81 (2) a (i) T E@T Bl
(3) e (i) I (iii) SFL BT 2 (4) SH | IS AV A Bl
Options :

92090666865. 1
92090666866. 2
92090666867. 3
92090666868. 4

Question Number : 17 Question Id : 92090616922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafaa g 4 v 5w 3 &7 g fog ™ 81 o9 & anar w1 fewat &1 g9dieo

FUA : 1 FH v diad] el 6 uhEaE g gl
e

(i) Hmm 3 S Sl 2 e 2

(ii) T T g qE TE B

(i) HHT T T Hider |5 8l

(1) ae (i) @FL & 21 (2) ad (ii) L EMT 2
(3) hae (i) 3N (iii) AR BT 2| (4) A9 © I3 AV & il 2|
Options :

92090666865. 1
92090666866. 2
92090666867. 3
92090666868. 4

Question Number : 18 Question Id : 92090616923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafifigd w9 5 I 3 @-9RT § g & [EUROHl % AHR W awed W faEn
#Frfory 2R = fou T fameti O wd fawen @1 = Hifsm)

IheA : U SgUd HE1 A 99 @l gicedl i gl H FEAI-TE T A % T Fere W
Tt 9= o 2

-

() =i FHAIRET % U W W Fee glaut 21

(i) TS FHANET 4 Teel Yieedl Hi AT Bl §eHE IR G-I, HI T @i 91|
(1) e (i) & wep-ed 2

(2) e (i) @ wepI-Tfed 2

(3) A4 () A E (i) TH-Ued B

(4) @HT () 3 (i) wehr-Tfeq 2

Options :
92090666869. 1

(W%



92090666870. 2
92090666871. 3
92090666872. 4

Question Number : 18 Question Id : 92090616923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffcifigd w9 5 I 3N @-9R0T & 8 8 [EUROHA] % HHR W awed W aEn
#hifore 3R = feu o fomeui & =& fawew 1 === Hifam)

Iehed : U FgUsid HHH1 3 99 I gidedi Hl gl F EAT-92 T H % T8 FeHE T
CEUSIRI eI

tﬁ-m:

(i) =t FH=EIRET % 99 9 W See giaur 2|

(ii) fereRTY F=TET 4 TEd gieedl 6 gl $1 e I gEA1-12, g1 W @l 91|
(1)  =had (i) & wH-1Ea 2l

(2) e (i) & IR-Ted 2

(3) F4r () 3 E (1) TE-1Ed 2

(4) M (i) 3R (i) TPT-Tfe E

Options :

92090666869. 1

92090666870. 2

92090666871. 3
92090666872. 4

Question Number : 19 Question Id : 92090616924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHF I VEIVHE IS TEIRF 0T SBI VH T W S 5F Y &I VH Y H e
=Y 27

(1)  wdrsit (2) 9l
(3) dE-TYg (4) qF-99
Options :

92090666873. 1
92090666874. 2



92090666875. 3
92090666876. 4

Question Number : 19 Question Id : 92090616924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHFTTH VEI VR AE TEIRFI A SEI VH T WEI ST 91 YEI VH Y H el
A B ?

(1) st (2) it
(3) dE-TY (4) qa-9Y
Options :

92090666873. 1
92090666874. 2
92090666875. 3
92090666876. 4

Question Number : 20 Question Id : 92090616925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T2 TALlhAl T Ufth H o4l &1 HHe 919 H g9d FIH T AR 900 g § Fad &6 W
=31 81 39 TF1 o &9 gH TSihal 93l &| Fol foha- e(hdl Jiad H =l 87

(1) 18 2) 27
(3) 28 (4) 29
Options :

92090666877. 1
92090666878. 2
92090666879. 3
92090666880. 4

Question Number : 20 Question Id : 92090616925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F9 @elRAl UH Uit § o431 | HHen 919 § gHd TH T AR i g § we ©H W
a3t 81 3 ST % &9 ¢F @iSfRAl adl £ Fel feha-l oigfehal ufed § adi 27

(1) 18 2) 27
(3) 28 (4) 29
Options :

92090666877. 1
92090666878. 2
92090666879. 3
92090666880. 4

Question Number : 21 Question Id : 92090616926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K @ fom ol & feru fgema e 20 - Ko+ K =0 % 6l 99 8017

(1) 8,4 (2) 4,4
(3) 0, 4 4y 0.8
Options :

92090666881. 1
92090666882. 2
92090666883. 3
92090666884. 4

Question Number : 21 Question Id : 92090616926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K % T w1 % foru fgema |t 20 - K+ K =0 % 961 99 811 7

(1) 8,4 (2) 4.4
(3) 0, 4 (4) 0.8
Options :

92090666881. 1
92090666882. 2
92090666883. 3
92090666884. 4

Question Number : 22 Question Id : 92090616927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U JEas i 100 Uil @1 % ged 3 s i 60 ufadi & fashd gew % aue 2| oy
71 g1+ =1 gfdea 2 -

o

(D Gﬁ%% @) fﬁé%
(3) 67% (4) 66%
Options :

92090666885. 1
92090666886. 2
92090666887. 3
92090666888. 4

Question Number : 22 Question Id : 92090616927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Tk i 100 WiaE &1 w9 god 36 gEas i 60 gfadl & fasa gew % suet 81 oy
71 g1+ o1 Sfdera & -

2
1 66—="% 2 6710
) 3 (2) =
(3) 67% (4) 66%
Options :

92090666885. 1
92090666886. 2
92090666887. 3
92090666888. 4

Question Number : 23 Question Id : 92090616928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, B, C 3R D U% 9EREM JF *d 81 ‘A’ Fa TN & U (928 9 1 JieH T 8, B
U II91E 9P H AEH AT 8, ‘O TH-qrEd 9 H1 IFEE Ha g AT 39 qeE D
FAAT &1 9 39 919 W HENd Bid 8 b d 379 gt & 39e o € oy o | i s oy
%.6,000 & & 384 D’ &1 907 feheaAT 27

(1) T2.000 (2) T1,600
(3) T 1.200 (4) ¥ 1,300
Options :

92090666889. 1
92090666890. 2
92090666891. 3
92090666892. 4

Question Number : 23 Question Id : 92090616928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, B, C 3R D U% 9EREM JF *d 81 ‘A’ Fa TN & U (928 9 1 JieH T 8, B
U II91E 9P H AEH AT 8, ‘O TH-qrEd 9 H1 IFEE Ha g AT 39 qeE D
FAAT &1 9 39 919 W HENd Bid 8 b d 379 gt & 39e o € oy o | i s oy
%.6,000 & & 384 D’ &1 907 feheaAT 27

(1) T2.000 (2) T1,600
(3) T 1.200 (4) ¥ 1,300
Options :

92090666889. 1
92090666890. 2
92090666891. 3
92090666892. 4

Question Number : 24 Question Id : 92090616929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I P H Q@ 40 ToF1 /= i 7fa & 96 Far & 37 a"E P A% A9 T 50% STt
witedr &1 Y AT | 39kl 3fTEd i R 27

(1) 36 T /e (2) 45 Tt f7a
(3) 48 forfi faar (4) 50 foprft /e
Options :



92090666893. 1
92090666894. 2
92090666895. 3
92090666896. 4

Question Number : 24 Question Id : 92090616929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 P E Q% 40 TFft/=er it fa & arn +2ar & 37 999 P 9% 31941 1 50% T2
witear 1 Tt Amn | 3t 3itaa i R 27

(1) 36 Tt /ga (2) 45 Tt /=
(3) 48 fodt/ga (4) 50 Tt /gen
Options :

92090666893. 1
92090666894. 2
92090666895. 3
92090666896. 4

Question Number : 25 Question Id : 92090616930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ey ‘A’ 3R B Tt Fve = w4 fime 3 6 fime O wiw €1 afe s gF el w6
aii-ail ¥ vEh-us e % fou sem 9 (99 A 1 9 IoE Il 8) 91 U8 H W
T foha-T Tag e ?

(1) 4 fiFe 48 ¥s (2) 3 fime 20 ¥Fs
(3) 4 Fme 50 o= (4) 3 fme 30 9es
Options :

92090666897. 1
92090666898. 2
92090666899. 3
92090666900. 4

Question Number : 25 Question Id : 92090616930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 Uy ‘A’ 3R B Tt Fve @ w4 faee 3R 6 fime @ w21 afe g | wiedl &
AHI-FH | TH-Th He & fole Teme A1 (59 ‘A’ I 9gcl 9eldl 9l €) @l HU i 9=
T fere wma @y

(1) 4 foe 48 T5s (2) 3 fiFe 20 TFs
(3) 4 fime 50 B (4) 3 fime 30 des
Options :

92090666897. 1
92090666898. 2
92090666899. 3
92090666900. 4

Part B: Home Science

Section Id : 920906336
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906546
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090616931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT a form of chronic diarrhoea?
1.  Osmotic diarrhoea
Exudative diarrhoea

Metabolic diarrhoea

A

Secretory diarrhoea



Options :

92090666901. 1
92090666902. 2
92090666903. 3
92090666904. 4

Question Number : 26 Question Id : 92090616931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafas 8 & =1 a1 faeey 9o o &1 YHR A9 8-

(1) o0& g (2) . = 2=
(3) Jud=E e (4) wE g
Options :

92090666901. 1
92090666902. 2
92090666903. 3
92090666904. 4

Question Number : 27 Question Id : 92090616932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Difference between amylose and amylopectin include which one of the following?

1.  Amylose contains only glucose residues, while amylopectin contains
both glucose and fructose.

2.  Amylopectin is a branched molecule, while amylose is linear.

3. Amylose has both alpha (1-4) and alpha (1-6) glycosidic linkages,
while amylopectin has only alpha (1-4) linkages.

4. Amylose has alpha (1-4) glycosidic linkages while amylopectin has
beta (1-4) linkages.

Options :

92090666905. 1
92090666906. 2
92090666907. 3
92090666908. 4



Question Number : 27 Question Id : 92090616932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHTSAT HN UATSAM(Fed & A i HElcifiad § & S |1 faehed TEiieha &ar 2: -
(1) UHTSENS H helel ohi 1 SN BIA1 8, Felh UAISCMIEeT H o[hid AN Heraehl
(hrerd) B 21

(2) UHTSHNEEA UF WREd A9 8, Fais UHEAS @R 2|

(3) wHEAE d SH1 IeH (1-4) I HAHT (1-6) Tghifales T g 8, J=ih
TS | Hhad AeHl (1-4) GI=4 BT 2|

(4) UHEHATH H oW (1-4) TAEHUiEs A BT 8, Feish UHgediEe] § ser (1-
4) HFTEA BT 2|

Options :

92090666905. 1

92090666906. 2

92090666907. 3

92090666908. 4

Question Number : 28 Question Id : 92090616933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pyruvate, the end product of glycolysis, enters the citric acid cycle after it has
been converted to :

1.  Acetaldehyde
2. Lactic acid

3. Acetic acid
4.  Acetyl-CoA

Options :

92090666909. 1
92090666910. 2
92090666911. 3
92090666912. 4

Question Number : 28 Question Id : 92090616933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

UISEde TS INEaE &1 3d9 39e 2| 98 fefafas 4 o T 30 0 9eo & =i
arEfes =3k 0 U9 AT B -

(1) uHtefreess (2) wifdes 3=
(3) ufafew s (4) UfHeEe - Hixwm
Options :

92090666909. 1
92090666910. 2
92090666911. 3
92090666912. 4

Question Number : 29 Question Id : 92090616934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The phenomenon of existence of two or more compounds possessing the same
molecular formula but different properties is referred as

1.  Oxidation
2. Reduction
3. Isomerism
4. Elimination

Options :

92090666913. 1
92090666914. 2
92090666915. 3
92090666916. 4

Question Number : 29 Question Id : 92090616934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 Wi I 1 FEd & 98l o A1 9 uS v w1 'ae snuifas 57 e fim o
Bl &7

(1)  FATeRETRI (2) 9=EA (FE+e)

(3) HHEIEEA (4) Tr=prm

Options :



92090666913. 1
92090666914. 2
92090666915. 3
92090666916. 4

Question Number : 30 Question Id : 92090616935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to ICMR (2020), the estimated average requirement of iron for a
pregnant woman is

1. 30 mg/day

2. 40 mg/day

3. 32 mg/day

4. 35 mg/day
Options :

92090666917. 1
92090666918. 2
92090666919. 3
92090666920. 4

Question Number : 30 Question Id : 92090616935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YAdE FETE 39E9E 9fmg (ICMR) 2020 % 38R, UH THad0 Ofgen & g
T ©itg (3=H) 1 AEvEHal gl & -

(1) 30 Taefimm wfafeq (2) 40 faeiom sfafa
(3) 32 fachiam wfafen (4) 35 Taetmm wfafe
Options :

92090666917. 1
92090666918. 2
92090666919. 3
92090666920. 4

Question Number : 31 Question Id : 92090616936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who is popularly known as the ‘Father of Management Process'? Select the
correct answer from the following:

1. Elton Mayo
Max Weber

Henry Fayol

- & e

Mike Wright

Options :

92090666921. 1
92090666922. 2
92090666923. 3
92090666924. 4

Question Number : 31 Question Id : 92090616936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=ferfaa 4 @ 5% wave fshan &1 5= Far J1a1 & 7

(1) Uged u4l (2) #HeE 9=t
(3) F HEE (4) WIE® U
Options :

92090666921. 1
92090666922. 2
92090666923. 3
92090666924. 4

Question Number : 32 Question Id : 92090616937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a step in the process of decision-making?
1. Identifying the problem
2. Analysing the problem
3. Discussing the problem

4. Developing alternatives



Options :

92090666925. 1
92090666926. 2
92090666927. 3
92090666928. 4

Question Number : 32 Question Id : 92090616937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa=fefiga & & == a7 = fig fator sfen = e 8 2 -

(1) =oE &t 89 FE0 (2) =HE F1 Tagemor )
(3) wuEn W Ems = (4) Tawe fo=faa s
Options :

92090666925. 1
92090666926. 2
92090666927. 3
92090666928. 4

Question Number : 33 Question Id : 92090616938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the INCORRECT option from the following:

e

Budget helps in allocating and prioritising income
2. Budget encourages conscious decision-making
3. Budget helps in building wealth
4

Budget does not help in determining wasteful expenditure

Options :

92090666929. 1
92090666930. 2
92090666931. 3
92090666932. 4

Question Number : 33 Question Id : 92090616938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

[ o

Fr=fetfigd o & Terd fashed 94 -

(1) ¥ % FEe IR ruffsar § 99 el g1 2|
(2) ==e "o g Fui =1 getas w2

(3) o9 H9d 315 § "8 BT £

(4) ®e A9 1 AT T H 9EEE 8 aar 2l

Options :

92090666929. 1
92090666930. 2
92090666931. 3
92090666932. 4

Question Number : 34 Question Id : 92090616939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a standardization mark used in India?

1. FPO

2. Tl

3. Hallmark

4. I1SO
Options :

92090666933. 1
92090666934. 2
92090666935. 3
92090666936. 4

Question Number : 34 Question Id : 92090616939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr=fafaa 4 @ =9 o1 gedE fag yra 3 v=m 98 e 8-

(1) w93 (2) =183 .37E.
(3) EeWEH (4) 3TE.UH. 3,

Options :



92090666933. 1
92090666934. 2
92090666935. 3
92090666936. 4

Question Number : 35 Question Id : 92090616940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is one of the principles of design?

1. Line

2. Colour

3. Pattern

4. Rhythm
Options :

92090666937. 1
92090666938. 2
92090666939. 3
92090666940. 4

Question Number : 35 Question Id : 92090616940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

facfEanra s o e e s = aga g -

(1) @ (2 @@
(3) wfaEw (4) Fmafdar (fem)
Options :

92090666937. 1
92090666938. 2
92090666939. 3
92090666940. 4

Question Number : 36 Question Id : 92090616941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify, which of the following is NOT a principle of management?
1.  Social security
2. Discipline
3. Order
4.  Equity

Options :

92090666941. 1
92090666942. 2
92090666943. 3
92090666944. 4

Question Number : 36 Question Id : 92090616941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafofiaa § @ = a1 yauw %1 g 72 8, v8=m Hiw?

(1) =T T (2) A
(3) =a=IEm (4) TEaE
Options :

92090666941. 1
92090666942. 2
92090666943. 3
92090666944. 4

Question Number : 37 Question Id : 92090616942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct classification of resources based on supply.
1. Tangible and non-tangible resources
2.  Renewable and non-renewable resources
3. Human and non-human resources
4.

Economic and non-economic resources

Options :
92090666945. 1



92090666946. 2
92090666947. 3
92090666948. 4

Question Number : 37 Question Id : 92090616942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y & SR T HETEAT & SR HI Gal TeaH B

(1) Hd 37 3md qEeE (2) SR 3T SR JEE
(3) HHEE 3R R-TEEE wEeE (4) 3t 3N M- 3nfds qaree
Options :

92090666945. 1
92090666946. 2
92090666947. 3
92090666948. 4

Question Number : 38 Question Id : 92090616943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Paithani saris belong to which of the following state?
1.  West Bengal
2. Maharashtra
3. Punjab
4. Uttar Pradesh

Options :

92090666949. 1
92090666950. 2
92090666951. 3
92090666952. 4

Question Number : 38 Question Id : 92090616943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Yanft aifea Fafefaa 4 o g os2 @ g=fam &

(1) ufyaw @7 (2) wEW
(3) 9w (4) T ueH
Options :

92090666949. 1
92090666950. 2
92090666951. 3
92090666952. 4

Question Number : 39 Question Id : 92090616944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

was a sash tied during the post-vedic period 600-323 Bce around the
waist to hold the Antariya in place.

1. Ushnisa

2. Pesas

3. Kayabandh

4. Patka
Options :

92090666953. 1
92090666954. 2
92090666955. 3
92090666956. 4

Question Number : 39 Question Id : 92090616944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

at wee fams war I dfes F1a (600-323 3.9,) § A= H A9 T8 W S0 TEH
¥, for %t = $¢-f1c avd 9, 39 %ed o

(1) 3 (2) ==
(3) A=Y (4) 9
Options :

92090666953. 1
92090666954. 2



92090666955. 3
92090666956. 4

Question Number : 40 Question Id : 92090616945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the pre-shrinking treatment given to certain fabrics made from natural
fibres to prevent further shrinkage after washing.

1. Mercerization
2. Parchmentization
3. Sanforisation
4. Calendering
Options :
92090666957. 1
92090666958. 2

92090666959. 3
92090666960. 4

Question Number : 40 Question Id : 92090616945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH FUg 9 Wiplas Wi H &4 7d 8, I8 UH 6 -HHed UhA § [ Bl 8 dife gens
% |G 399 3N QT HEHed 7 B, 36 WishaAT Hl FeEd & -

(1) wEER (2) =T
(3) HHW (4) HersT
Options :

92090666957. 1
92090666958. 2
92090666959. 3
92090666960. 4

Question Number : 41 Question Id : 92090616946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT a cellulosic fibre?

1. Linen

2. Alpaca

3. Hemp

4. Rayon
Options :

92090666961. 1
92090666962. 2
92090666963. 3
92090666964. 4

Question Number : 41 Question Id : 92090616946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad @ & ®F &1 Gogeitas F9g1 78 & :

(1) = (o) (2) ITEAqTRI
(3) ¥ (JL) (4) A
Options :

92090666961. 1
92090666962. 2
92090666963. 3
92090666964. 4

Question Number : 42 Question Id : 92090616947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the term used to describe the direction of the alignment of yarns which
runs parallel to the selvedge in a fabric.

1. Bias
2. Drape
3. Grain
4. Gauge

Options :



92090666965. 1
92090666966. 2
92090666967. 3
92090666968. 4

Question Number : 42 Question Id : 92090616947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=l YT g i femn =i T et w92 § i % guEie Sedl 8, 39 99 $Ed 87

(1) =m=d (2) w9 (g9)
(3) @ (3F) (4) T
Options :

92090666965. 1
92090666966. 2
92090666967. 3
92090666968. 4

Question Number : 43 Question Id : 92090616948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following knit fabrics have all loops drawn to one side of the fabric
and in which smooth side is the face, and the back has textured or mottled
appearance?

1.  Rib knits

2. Jacquard knits
3. Jersey

4. Pique

Options :

92090666969. 1
92090666970. 2
92090666971. 3
92090666972. 4

Question Number : 43 Question Id : 92090616948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

FfeTfigd § 4 ®H &1 41 §37 HUST UHT & 996 g1 He o[F Uh 708 & &ld & R e
a1 9T AT 1 AR A1 & IR fUse W § gesier 39t & 8-

(1) Fa g (2) S FATE
(3) et (4) W T
Options :

92090666969. 1
92090666970. 2
92090666971. 3
92090666972. 4

Question Number : 44 Question Id : 92090616949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a type of stitch used in Kasuti embroidery?

1. Darning

2. Gavanti

3.  Murgi

4.  Menthi
Options :

92090666973. 1
92090666974. 2
92090666975. 3
92090666976. 4

Question Number : 44 Question Id : 92090616949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=ferfiga o & foe foas SR &1 790 F5d1 Fers o 981 8T 8 ¢

(1) =i (TE W) (2) TEAE
(3) i (4) T
Options :

92090666973. 1



92090666974. 2
92090666975. 3
92090666976. 4

Question Number : 45 Question Id : 92090616950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Infant intelligence tests are poor predictors of later intellectual performance
because they primarily measure

1. Cogpnitive skills such as object permanence

2. Sensory and motor skills
3. Individual differences in rates of language development
4. The effects of early educational experiences such as day-care
attendance
Options :

92090666977. 1
92090666978. 2
92090666979. 3
92090666980. 4

Question Number : 45 Question Id : 92090616950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I g THET A1g % Hilg® UG 1 GUE Hehdh & Fdih 98 eI 9 H 791 8

(1) @SS ®ive S8 6 a5 weeH

(2) Gadl 3R e Hie

(3) wmn fawm & o | safeaa fafieand

(4) rifus Sefe wgaEl 5 T - safeafy =1 gam)
Options :
92090666977. 1
92090666978. 2

92090666979. 3
92090666980. 4



Question Number : 46 Question Id : 92090616951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Richa is 8-year-old now and does not remember much of the first 3 years of her
life. Which of the following option is correct to describe her condition?

1.  Not normal and called as infantile amnesia

2.  Normal and called as infantile amnesia

3.  Not normal and called as lateralization

4. Normal and called as laterization
Options :

92090666981. 1
92090666982. 2
92090666983. 3
92090666984. 4

Question Number : 46 Question Id : 92090616951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FT A9 8 w6 H B I I W e F TEdl o ant i sAfusiw 9 3w 98 2
fr=ferfigs fasedl § & =9 30 gan 1 3f=@ =9 & goiar 27

(1) w8 o e Hia-am w8 2
(2) == 7 99 dvE Sfa-a F8d 8l
(3) @ & fE aedie FEd &

(4) @ 2 8 adie #ad £

Options :

92090666981. 1
92090666982. 2
92090666983. 3
92090666984. 4

Question Number : 47 Question Id : 92090616952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Supreme Court of India has constituted a central agency to set up guidelines

for adaption to safeguard the welfare and rights of children. Identify the agency
from the following options:

1. ICDS

2. SEN

3. CARA

4. ECCE
Options :

92090666985. 1
92090666986. 2
92090666987. 3
92090666988. 4

Question Number : 47 Question Id : 92090616952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & a9 AEed 4 Uh S S8 &+ Ted foa @ & 75 eos-ugw ufkan &
femfsdw =1 foffe Seft @ifs a= % Afueil 3t 76 Feamr 6 e F1 == w@
ook | 98 ge1 frefeifiga § @ i 6 8 -

(1) 3mE.Hi 3. (2) THETA
(3) #Huamu (4) .93
Options :

92090666985. 1
92090666986. 2
92090666987. 3
92090666988. 4

Question Number : 48 Question Id : 92090616953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT the factor which influences sibling relationships?

1.  Parental attitude

2.  Gender of a sibling
3. Age difference between the siblings
4.  Size of the family

Options :

92090666989. 1
92090666990. 2
92090666991. 3
92090666992. 4

Question Number : 48 Question Id : 92090616953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafciiigd § 9 ®F 91 R Hael /a8 & el &l GHIEd T8l Bl 8 -

(1) AlEHE =@ (2) TS F1 FE T Tom
(3) WTE = wEA & o9 FgHS (4) dFER =1 3R
Options :

92090666989. 1
92090666990. 2
92090666991. 3
92090666992. 4

Question Number : 49 Question Id : 92090616954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a symptom of Attention Deficit Hyperactivity Disorder
(ADHD)?

1.  Anger

2. Lack of focus
3. Sad

4.  Playful



Options :

92090666993. 1
92090666994. 2
92090666995. 3
92090666996. 4

Question Number : 49 Question Id : 92090616954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trafefias & g == a1 fasey amyE ww Ffqatraa fown (vdva ) = @y 8-

(1) #m (@) i %
(3) gE (4) farresfer
Options :

92090666993. 1
92090666994. 2
92090666995. 3
92090666996. 4

Question Number : 50 Question Id : 92090616955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the style of parenting, which is considered best most of the times for
maijority of the children most of the time.

1.  Authoritarian parenting

2.  Authoritative parenting
3. Permissive parenting

4. Uninvolved parenting

Options :

92090666997. 1
92090666998. 2
92090666999. 3
92090667000. 4

Question Number : 50 Question Id : 92090616955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

€ HIA H ATCH-TTeH i Sefl & S sifbem s=1 o fore sifuermma: gae adt 2

(1) EEE A= (2) =R AeH-IeH
(3) FEUE HATeH-TTeH (4) FETT SeH-aTeA
Options :

92090666997. 1
92090666998. 2
92090666999. 3
92090667000. 4

Question Number : 51 Question Id : 92090616956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the stage which is NOT a part of Erikson's theory of psychosocial
development.

1.  Trust vs. mistrust

2. Autonomy vs. shame/doubt

3. Initiative vs. guilt

4. Introvert vs. extrovert
Options :

92090667001. 1
92090667002. 2
92090667003. 3
92090667004. 4

Question Number : 51 Question Id : 92090616956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e fev v fa=eqi 9 @ =F w1 e & uRfas e fawm o1 v 9o T8 8-

(1) Horya favas a9 Afavas (2) TEEAT 99 99/ HEE
(3) UES ¥ FAWYEY (4) FUE AT SEHE
Options :

92090667001. 1



92090667002. 2
92090667003. 3
92090667004. 4

Question Number : 52 Question Id : 92090616957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Classical conditioning is important in infants because

1. It leads to pleasant consequences
2. It gives infants a sense of order in their environment
3. It helps children to imitate

4. It enhances memory of the infants

Options :

92090667005. 1
92090667006. 2
92090667007. 3
92090667008. 4

Question Number : 52 Question Id : 92090616957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fargratt & e SEeE SAEvEE § H=ifh -

(1) 3% ¥@c TR § qiuE g 2|

(2) ¥ sl &1 37 e § SFae i 9@ 9eH T &l
(3) FE o= I AW fGE 1 92 2l

(4) =% == I Fid " 2|

Options :

92090667005. 1
92090667006. 2
92090667007. 3
92090667008. 4

Question Number : 53 Question Id : 92090616958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sustainable Development Goals are to be achieved by the year

1. 2030
2. 2040
3. 2050
4. 2025
Options :

92090667009. 1
92090667010. 2
92090667011. 3
92090667012. 4

Question Number : 53 Question Id : 92090616958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Haa fos™ @69 % 355741 I [hd 99 5 [0 B & A& 8 -

(1) 2030 (2) 2040
(3) 2050 (4) 2025
Options :

92090667009. 1
92090667010. 2
92090667011. 3
92090667012. 4

Question Number : 54 Question Id : 92090616959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is NOT an objective of extension?

1. Increase in productivity, generation of income
2. Change in the outlook of people

3. Development of community

4. Road safety

Options :



92090667013. 1
92090667014. 2
92090667015. 3
92090667016. 4

Question Number : 54 Question Id : 92090616959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Traferfaa & == @1 faser faman &1 3gewa 78 2-
(1)  3cUTeA ! GG, 319 399 N (2) AW = 3o § weeld
(3) THEE = fam (4) TJEEE - FSH AT

Options :

92090667013. 1
92090667014. 2
92090667015. 3
92090667016. 4

Question Number : 55 Question Id : 92090616960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following model represents various levels of self-awareness?

1.  Shannon and Weaver

2.  Johari Window

3. Sandhu

4. David Berlo
Options :

92090667017. 1
92090667018. 2
92090667019. 3
92090667020. 4

Question Number : 55 Question Id : 92090616960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Traferfiga 4 & =9 @1 giege sT-anEsa + fafie =0 <1 e s 2:-

(1) 999 3R dffex (2) =ed famet
3) ®Yq (4) e =t
Options :

92090667017. 1
92090667018. 2
92090667019. 3
92090667020. 4

Question Number : 56 Question Id : 92090616961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term ‘extension’ was first used in

1. USA

2. UK

3. Denmark

4. Norway
Options :

92090667021. 1
92090667022. 2
92090667023. 3
92090667024. 4

Question Number : 56 Question Id : 92090616961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UFHETH Yot 1 TEE G AT HEl fhaT TET =17

(1) Hgad U9 F9HT (L.08.0.) (2) faea (3.%.)
(3) = (4) =
Options :

92090667021. 1
92090667022. 2
92090667023. 3



92090667024. 4

Question Number : 57 Question Id : 92090616962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Daniel Lerner, which amongst the following is a pre-condition for
modernization of society?

1. Development of farmers
2.  Industrialization

3. Literacy

4.  Population growth

Options :

92090667025. 1
92090667026. 2
92090667027. 3
92090667028. 4

Question Number : 57 Question Id : 92090616962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e o & IER, Fefatea @ § =5 a1 fees e * syt & fou w@-ud
2-

(1) Toram = fa=m (2) IR
(3)  =neEa (4) wEE dfg
Options :

92090667025. 1
92090667026. 2
92090667027. 3
92090667028. 4

Question Number : 58 Question Id : 92090616963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which amongst the following is NOT a main pillar of human development?

1.  Equity

2.  Sustainability
3. Empowerment
4. Digital inclusion

Options :

92090667029. 1
92090667030. 2
92090667031. 3
92090667032. 4

Question Number : 58 Question Id : 92090616963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa @ & =4 @1 oHa faew %1 9@ @ 78 # -

(1) =war (s (2) Heq TVl
(3)  Hofadetm (4) Tefaes smmEwm
Options :

92090667029. 1
92090667030. 2
92090667031. 3
92090667032. 4

Question Number : 59 Question Id : 92090616964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Posters is an example of which of the following aids?
1. Video aids
Audio-visual aids

Audio aids

RS

Visual aids



Options :

92090667033. 1
92090667034. 2
92090667035. 3
92090667036. 4

Question Number : 59 Question Id : 92090616964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G2t U 3EE B i-

(1) Tafe=n amF (2) 4=a-399 9194
(3) =T = (4) =9 ==
Options :

92090667033. 1
92090667034. 2
92090667035. 3
92090667036. 4

Question Number : 60 Question Id : 92090616965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the expanded form of ASHA?
1. Associated Social Health Activist
2. Accredited Social Health Activist
3. Accredited Society Health Activist
4.

Accredited Society Health Association

Options :

92090667037. 1
92090667038. 2
92090667039. 3
92090667040. 4

Question Number : 60 Question Id : 92090616965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 fereia =9 F 87
(1) uHiIfgE 99w goy ufecfrE| (2) 3ThiEdE | &ed Ufaefaiza|
(3) vemfrfa GamEd gou vfeefamm) (1) ankfsds AM™d goy vEifEueF|

Options :

92090667037. 1
92090667038. 2
92090667039. 3
92090667040. 4

Question Number : 61 Question Id : 92090616966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the expanded form of PRA?

1.  Participatory Rural Appraisal

2 Participatory Rural Appreciation
3. Pragmatic Rural Approach
4

Participatory Rural Action

Options :

92090667041. 1
92090667042. 2
92090667043. 3
92090667044. 4

Question Number : 61 Question Id : 92090616966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
.3 u. = fommie =9 T 27

(1) oféfaudt e suEe (2) wféfaudt =1e srfufims=
(3) wifes e e (4) wffaudt = v
Options :

92090667041. 1
92090667042. 2
92090667043. 3



92090667044. 4

Question Number : 62 Question Id : 92090616967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the book, Diffusion of Innovation, Everett Rogers discusses the concept of

1.  Adoption process
2.  Spiral of silence
3. Encoding and decoding

4.  Magic multiplier

Options :

92090667045. 1
92090667046. 2
92090667047. 3
92090667048. 4

Question Number : 62 Question Id : 92090616967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HU g Tewgyeia 3116 Sy H, Tate U9 T staumon i == & 87

(1)  fietor 9fswman (2) H4 % T4
(3) heorEd 3N famshad (4) HET 1 FEHH
Options :

92090667045. 1
92090667046. 2
92090667047. 3
92090667048. 4

Question Number : 63 Question Id : 92090616968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following organization is NOT primarily engaged in supporting
women's development?

1. NCW

2. NWP

3. UNWOMEN
4. CSWB

Options :

92090667049. 1
92090667050. 2
92090667051. 3
92090667052. 4

Question Number : 63 Question Id : 92090616968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FefRea § & FH | 5ed g8 ¥4 § AEenA| 9% § 98EE €9 9 6 997 8 -

(1) TUAHL Sy (2) TA.Zec L.
(3) .. FEA (4) ¥i.uH. g0, 4.
Options :

92090667049. 1
92090667050. 2
92090667051. 3
92090667052. 4

Question Number : 64 Question Id : 92090616969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which type of testing, the performance of a student is compared with another
student?

1.  Criterion referenced testing
Diagnostic testing

Norm-referenced testing

S

Summative testing



Options :

92090667053. 1
92090667054. 2
92090667055. 3
92090667056. 4

Question Number : 64 Question Id : 92090616969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et a0 & Wy it qer o6t 3y o @ fea wen & gltew & it S 27

(1) WHcs defida e (2) et wliam
(3) W Herda wHiE (4) STIeRR qETET
Options :

92090667053. 1
92090667054. 2
92090667055. 3
92090667056. 4

Question Number : 65 Question Id : 92090616970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of a maximum performance test?

1. Aptitude test

2. Personality test

3. Projective personality test

4. Interest and attitude scale
Options :

92090667057. 1
92090667058. 2
92090667059. 3
92090667060. 4

Question Number : 65 Question Id : 92090616970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fafaa 4 & =4 o1 fawes wrfuson veeia Tieor =1 vF Jew 8 -

(1)  sAfemar fe (2) SAfade wisqm
(3) w&dE safeae wan (4) wfiwfa 3 wfaemar =
Options :

92090667057. 1
92090667058. 2
92090667059. 3
92090667060. 4

Question Number : 66 Question Id : 92090616971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Heat application needs to be avoided in case of blood, milk
and egg stain removal.

Reason (R) : Animal stain contain protein which gets fixed on heat
treatment.

In the light of the above statements, choose the most appropriate answer from
the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090667061. 1
92090667062. 2
92090667063. 3
92090667064. 4

Question Number : 66 Question Id : 92090616971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 F for 70 B : vF 3fEEE (Assertion (A)) % ®9 4 fofga & @ g@a 39 w0
(Reasons (R)) F ®9 7 :

AfFYE (A): T, Y 3R 3l % 9eEi HI g2H § THI % WM 9 F=E =e)
=R (R) FHaA (FT) F T 0 Ui BT 8 S T w1 W e S 2

I Y % ATcirh °, A fou mu fawedi & & w99 I9gE I H 99 Hifag

(1) (A) R (R) 31 @l £ 3 (R), (A) =i 3f=a =qmen 2|

(2)  (A) R (R) 3H1 wEl &, =ik (R), (A) =i 3faa =ame 72 2|
(3)  (A) @l 2, wifed (R) 7o 2|

(4)  (A) 7 &, wife (R) @ 2

Options :

92090667061. 1
92090667062. 2
92090667063. 3
92090667064. 4

Question Number : 67 Question Id : 92090616972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The role and importance of lifelong learning in India have
increased in recent time.

Reason (R) : Health is the sole factor, which has led to the increase in
lifelong learning.

In the light of the above statements, choose the correct answer from the options
given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is true but (R) is false
4. (A)is false but (R) is true

Options :

92090667065. 1



92090667066. 2
92090667067. 3
92090667068. 4

Question Number : 67 Question Id : 92090616972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 %99 fqu 7 # : uF 31U (Assertion (A)) % w9 4 foifigd 2 df guu 3@ AW
(Reasons (R)) FEIH :

AuHeH (A): @ % 99 §, WAA H SAeH-TE| A H g At 98 7 gig
hd

FA (R) : R HH FNF & 98+ HR0 91g 55 &

ITITH FHIA % HAelh °, = feu mu fomedi § § ga9 39g® It 1 F91 DIaQ

(1) (A) 3R (R) TH1 981 & 301 (R), (A) i 3fea =g &

(2) (A) 3R (R) aHi @l &, il (R), (A) 1 3faa =amen 74 21
(3) (A H# 2, e (R) Terd 21

(4)  (A) e &, wife (R) @& 2|

Options :

92090667065. 1
92090667066. 2
92090667067. 3
92090667068. 4

Question Number : 68 Question Id : 92090616973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Media policy of NLM aims to strengthen the delivery
mechanism of the NLM.

Reason (R) : It aims to create awareness among potential beneficiaries of
the literacy programme.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false
4. (A)is false but (R) is true

Options :

92090667069. 1
92090667070. 2
92090667071. 3
92090667072. 4

Question Number : 68 Question Id : 92090616973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 21 A feu T B : U AHEA (Assertion (A)) % ®9 ¥ fdfga 8 a1 gaU 396 FRO
(Reasons (R)) &9 1 :

whimpem (A) ;. T FEsEa fem (woueum.) i difew i w1 w1 muewm, &
TErE 7 ®l q3e F Bl
=R (R) SHHT 3299 HIET] HIAHH o HAS ATHNGE] H AFTEhdl 3099 AT 21

I FHYA & A °, = gr T faswhedi § § T899 IUIE 3T H T4 DI

() (A) 3R (R) g1 @&l & 31 (R), (A) i 3f=a =qmen 2|

(2) (A) 3R (R) gFl @&l &, =i (R), (A) =i 3faa =amen =& 2|
(3) (A wé 2, =i (R) 7o 21

(4)  (A) 7 8, wifsh (R) @ 2

Options :



92090667069. 1
92090667070. 2
92090667071. 3
92090667072. 4

Question Number : 69 Question Id : 92090616974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Lathyrism is a nervous disease that cripples an individual.
Reason (R) : The disease results from an excessive consumption of
khesari dal.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is true but (R) is false
4. (A)is false but (R) is true

Options :

92090667073. 1
92090667074. 2
92090667075. 3
92090667076. 4

Question Number : 69 Question Id : 92090616974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el &1 YA QU T § : U AfuHEA (Assertion (A)) % &9 § foftga 2 a1 gaU 39 RO
(Reasons (R)) % ®9 1 :

AYFHYE (A):  CESHeH HETA 6l Th SEET & 91 ] HI 3196 a1 dhal 2
= (R) 7z #HHT EN o & Acdaes 94 ° 2l &l

ITRE HYH % ATers °, A fou mu fawmedt o @ g9 IugeE I 99 Hifan

(1)

(A) 3R (R) 31 &8 & 31 (R), (A) i 3f=a =memn 2

(2) (A I (R) IH w2, 9FF (R), (A) F 3faa =men 76 2
(3) (A wél B, =ifd (R) T 21
(4)  (A) 7 8, wifhd (R) @ 2

Options :

92090667073. 1
92090667074. 2
92090667075. 3
92090667076. 4

Question Number : 70 Question Id : 92090616975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Piaget's theory undervalues the influence of the sociocultural

environment on cognitive development.

Reason (R) : Piagetdescribes the child as a lone scientist, constantly trying

to figure out on their own and how their theory coordinates
with the data.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false
4

(A) is false but (R) is true

Options :



92090667077. 1
92090667078. 2
92090667079. 3
92090667080. 4

Question Number : 70 Question Id : 92090616975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 g1 ®YA QU T 8 : U AFHEA (Assertion (A)) F &9 § fofgd 2 a1 gaU 366 FRO
(Reasons (R)) & ®9 7 :

AHeH (A) : TS &1 g At - ARG THE H GHES [9H W THE H
FH Hh HATHAT 2

= (R) g o= &1 UF 3ol A9 UHEINT FAd 8, W g5 =E g g8
S 2 o 3 fagma 9= | areme @1 1 £ 31 78|

ITRE FLH % ATersh °, A feu mu faswedt § @ g9 IugeE I 1 99 Fifn

(1) (A) 3R (R) 341 =2t & 3R (R), (A) 1 3 == 2

(2) (A) 3R (R) =1 921 &, 9 (R), (A) i sfag =amen 781 21

(3)  (A) Wl 2, <ifshd (R) 7erd B

(4)  (A) 7Ted 8, ot (R) T& 2|

Options :

92090667077. 1

92090667078. 2

92090667079. 3
92090667080. 4

Question Number : 71 Question Id : 92090616976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Angular stomatitis is a symptom of which of the following nutrient deficiency?

1. Riboflavin

2. Thiamine

3. Pyridoxine

4. Folic acid
Options :

92090667081. 1
92090667082. 2
92090667083. 3
92090667084. 4

Question Number : 71 Question Id : 92090616976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WeR LHfen s Ay 8 F fetataa § 9 5 9w a0 F FH ° w5 g

(1) TaEmsefE (2) foranf=
(3) fufE=dm (4) wife=s 3=
Options :

92090667081. 1
92090667082. 2
92090667083. 3
92090667084. 4

Question Number : 72 Question Id : 92090616977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Classical management theories focussed on the aspects
relating to structure of the organization and were prescriptive
about what is good for the organization

Reason (R) : Features such as scalar chain, specialization, authority and
the definition were essential to successful management.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090667085. 1
92090667086. 2
92090667087. 3
92090667088. 4

Question Number : 72 Question Id : 92090616977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A g1 %99 fou U § : uF 3fEud (Assertion (A)) % ®9 4 foifigd & 41 gEu 36 AW
(Reasons (R)) & =9 7 :

Ffiemed (A): I Yave fagmal S EW qEnHA i =T | 98 gl W higd @ 8
3R wensAt & o & w&l /e 2, 39eh Wi 32 e 6 2

= (R) : Thoi <4, fafsmear, wiftepr 3R ity 59 0 9% 9@ & fog
HAETF &

ITE HYF & Aerh °, = for v faweni § ¥ w99 39w I 1 93 Sifau
(1) (A) 3R (R) 41 56t € 3R (R), (A) i =& =m=n &
(2) (A) 3R (R) 5F1 @1 &, &l (R), (A) 1 9 =amen 78 8
(3) (A) = B, «ifa (R) wél 781 2
(4) (A @E 7@ &, @ (R) 981 2
Options :
92090667085. 1
92090667086. 2

92090667087. 3
92090667088. 4

Question Number : 73 Question Id : 92090616978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the phases of nutrition care process in correct sequence :
Planning for nutritional care

Identification of problems

Assessment of nutritional status

Evaluation of nutritional care

B 0

Implementation of nutritional care
Choose the correct answer from the options given below :

1. AE,B,C,D

2. AGCBED

3. B CADE

4. C,B,A ED
Options :

92090667089. 1
92090667090. 2
92090667091. 3
92090667092. 4

Question Number : 73 Question Id : 92090616978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9Ty SETe i ishan § fafim =wo %1 39 wé %9 § o
(A) U SEUTE TS
(B) @9ENIHAT i TEEE
(C) HH9 T T 3o
(D) TN SEYTA H1 GodiEA
(E) N S@9Te i HEit-ad Hl

e feu v fawedi O @ wd I %1 999 Hifau -
(1) (A), (E), (B), (C), (D)
(2) (A), (O), (B), (E), (D)
(3)  (B), (C), (A), (D), (E)
(4)  (C), (B), (A), (E), (D)



Options :

92090667089. 1
92090667090. 2
92090667091. 3
92090667092. 4

Question Number : 74 Question Id : 92090616979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps for growth monitoring in appropriate sequence :

A. Interpreting direction of the growth curve and recognising if the child is
growing properly.

B. Determining correct weight of the child.
C. Determining correct age of the child.
D. Plotting the weight against age accurately on a growth chart.

Choose the correct answer from the options given below :

1. B.C,A.D

2 C,B,DA

3. B,C,DA

4. C,B.AD
Options :

92090667093. 1
92090667094. 2
92090667095. 3
92090667096. 4

Question Number : 74 Question Id : 92090616979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fama T o 3uge weni @i IHH HE H ° FIfed B

(A) dfg 9% %1 g i fae=m w1 3R 78 g9 6 o= a8 ol | 3fg = @ 8
1 A& |

(BY = % @&l 999 o G0 S

(C) == 1 §&l g =1 91 &1

(D) WY I T g9 &1 39 & fOufia 5 3754

A= feu mu fawedi 4 9 9E I %1 999 Fifsw -
(1) (B), (C), (A), (D)
(2) (C), (B), (D), (A)
(3)  (B), (C), (D), (A)
(4) (C), (B), (A), (D)
Options :
92090667093. 1
92090667094. 2

92090667095. 3
92090667096. 4

Question Number : 75 Question Id : 92090616980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps involved in production of linen fibre in appropriate sequence :
Retting
Steeping the stems of the flax plant
Collection of the linen fibres

Separation of the woody parts

m o o w »

Spinning

Choose the correct answer from the options given below :
1. D/B.C A.E

B.A.D.C.E

A,C,B,E,D

il S

B.C,D,AE



Options :

92090667097. 1
92090667098. 2
92090667099. 3
92090667100. 4

Question Number : 75 Question Id : 92090616980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o1 % H9Sg % ITATeA § IUGHT HEHI I Hel =] H HAEIE HIfY -
(A) IfEm
(B) AFH & 71 I @l FAT
(C) To== = T3 i 390 T
(D) ThEl & THEl HI IFHT HEAT

r

(E) e

= feu Tu fasedi @ | 9@ I 1 994 Hife
(1) (D), (B), (O), (A), (E)
(2) (B), (A), (D), (C), (E)
(3 @A), (C), (B), (E), (D)
(4) (B), (C), (D), (A), (E)

Options :

92090667097. 1
92090667098. 2
92090667099. 3
92090667100. 4

Question Number : 76 Question Id : 92090616981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the steps of organizing process in correct sequence :
Delegation of authority

Allocation of duties

Identification and division of work

Organizing process

m b o & »

Grouping and assigning of activities
Choose the correct answer from the options given below :

1. AB.CDE
2. B.C;OLEA
3. GB,BAE
4. C,EBAD

Options :

92090667101. 1

92090667102. 2

92090667103. 3
92090667104. 4

Question Number : 76 Question Id : 92090616981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT Wisha | ffea 0 ®1 G981 %A § T
(A) AR =1 TEEE

B) Frrie w1 e

(C) = &1 989 3 fayr==

(D) A 9w

(E) feramaremdi =1 aqdieron 3 gurfese e smn

g feu v fa=ew 9 O 9E I w1 999 Fifew
(1) (A, (B), (O), (D), (E)
(2) (B), (C), (D), (E), (A)
(3)  (C), (D), (B), (A), (E)
(4) (C), (E), (B), (A), (D)



Options :

92090667101. 1
92090667102. 2
92090667103. 3
92090667104. 4

Question Number : 77 Question Id : 92090616982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the hierarchy of Panchyati Raj Institution of governance starting from
grassroot level :

A. Gram Sabha

B. Block Panchayat Samiti
C. Zila Parishad

D. Gram Panchayat

Choose the correct answer from the options given below :

1. DA B.C

2. ADC.,B

3 ADBC

4. D,BAC
Options :

92090667105. 1
92090667106. 2
92090667107. 3
92090667108. 4

Question Number : 77 Question Id : 92090616982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frferfign damad Te geaEl 1 FHH SR H 9EIIT S0 gU AR HE H Saiedd Hi -
(A) T H91
(B) =1 T9Ed &l

(C) Toem gftg
(D) W T=Ed

g feu o fawedi O & W& I =1 959 Hifa .

(1) (D), (&), (B), (C)
(2 (@A), D), (), (B)
(3 (A, (D), (B), (C)
(4) (D), (B), (A), (C)

Options :

92090667105. 1
92090667106. 2
92090667107. 3
92090667108. 4

Question Number : 78 Question Id : 92090616983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the group development as given by Bruce Tuckman in the correct
sequence :

A. Adjourning
B. Forming

C. Storming
D. Norming
E. Performing

Choose the correct answer from the options given below :
1. BB.CEA

B.D,C.E A

B,C.D,.E A

o M

C,B,D,E A



Options :

92090667109. 1
92090667110. 2
92090667111. 3
92090667112. 4

Question Number : 78 Question Id : 92090616983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

59 ¢ g gfauifed aqg famm & =i 1 @€l %A °§ ")
(A)  =fE =

(B) wfad &

(C) =@mE HE

(D)  SHHEIE TfUa

(E) wei e

= feu mu fawedl § 4 9E 39 %1 =9 Fifaw .
(1) (D), (B), (C), (E), (A)
(2) (B), (D), (C), (E), (A)
(3)  (B), (C), (D), (E), (A)
(4) (C), (B), (D), (E), (A)

Options :

92090667109. 1
92090667110. 2
92090667111. 3
92090667112. 4

Question Number : 79 Question Id : 92090616984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : To hard cook an egg with the minimum discolouration of the

yolk, a fresh egg should be cooked in water at simmering
temperature followed by prompt cooling.

Statement—Il :  The amount of hydrogen sulphide evolved is not dependent

on time and temperature of heating and pH of the eggs.

In the light of the above statements, choose the most appropriate answer from
the options given below :

Ll

1. Both Statement | and Statement |l are correct

Both Statement | and Statement |l are incorrect
Statement | is correct but Statement Il is incorrect

Statement | is incorrect but Statement Il is correct

Options :

92090667113. 1
92090667114. 2
92090667115. 3
92090667116. 4

Question Number : 79 Question Id : 92090616984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & e fer MU E

Fuq 1: UH T 7S F Faq@d THT T I= A9HH T IS A 381 TR 1 108 a1fh

T 1 FH H F9 Al 2|

@y 11 : Ta=iaa sEsied gowgs 6 951 A & 99 3 pH & 999 30 9aW W i

TE AT 2

ITRE HUF % ATk °, A fou mu fawedi § @ w9 IugeE I % 99 Hifaw

(1)
(2)
(3)
(4)

%o 1 31 11 g1 =t &
Fe 1 31 11 41 Teid &
FY 1 98 &, oifed 2 11 7Teid 2
FU4 [ a2, e Fua 1198 2

Options :



92090667113. 1
92090667114. 2
92090667115. 3
92090667116. 4

Question Number : 80 Question Id : 92090616985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I| : Piaget's theory propagates that the children actively try to
understand their world.

Statement—Il : Piaget's theory underestimates infants and preschooler's
competence and does not account for variability in
performance.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement || are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement Il is true

Options :

92090667117. 1
92090667118. 2
92090667119. 3
92090667120. 4

Question Number : 80 Question Id : 92090616985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gk

FYA 1

FI7 fqu MU R

. Tt w1 foga sam & 6 a= 9fr w9 @ Al gfn & awem @1 T
T &l

FA 11 : Toams =1 fag@ Faemar 3t et fnen wiy 1 & vgel & =i I &0 &1 F0

1 % Il & 3R yeulH i fafimar =i 999 § 78 @1 2

I FYF & e °, = for v fawedi § § w99 I9gE I H 991 Fifn

(1)
(2)
(3)
(4)

Options

FY 1 3 11 g wel 2
FY 1 3 11 H Tera &
wo [ Tal 2, oifeed % 11 7eid 8
FY 1 7Teid 2, oifehd s 11 5 2

92090667117. 1
92090667118. 2
92090667119. 3
92090667120. 4

Question Number : 81 Question Id : 92090616986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct

Given

Marks : 4 Wrong Marks : 1

below are two statements :

Statement—I| : Kbnitting provides smooth and firm fabrics, so they can

selected accordingly for making dresses.

Statement—Il :  Wearing provides stretchability and elasticity to the fabrics so

it is suitable for socks, undergarments, woollen sweaters etc.

In the light of the above statements, choose the correct answer from the options

given below :
1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4. Statement | is false but Statement Il is true
Options :

92090667121. 1



92090667122. 2
92090667123. 3
92090667124. 4

Question Number : 81 Question Id : 92090616986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g wyA e U E

Fua [ 572 (FfEn) @ gomem 3 oosm F981 WH &6 2| SEfeY, 98 99 0 SH
AEAHN <A1 1 Fhal &

Fu 11 : g8 (Aifarr) & 9l o fgamee 3R a=iedy AT 8| 37a: 369 96, SAdiasl 3
Tl el i g4 § 39 fman A 8

I FHY & e 4, A= feu 7o fawedi § ¥ ¥ I9g% I9 H 951 i

(1) = 1 3 %= 11 F1 a8 8
(2) =y 1 3 %A 11 gHi 7o @
(3) =158, 3 FH [ 7Ted g
(4) = I7ad e, i [ ad g

Options :

92090667121. 1
92090667122. 2
92090667123. 3
92090667124. 4

Question Number : 82 Question Id : 92090616987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : ASHA is a social health activist in the age group of
25-45 years.
Statement—Il : ASHA is the first point of contact and is usually from different

village than where she works.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct
Options :

92090667125. 1
92090667126. 2
92090667127. 3
92090667128. 4

Question Number : 82 Question Id : 92090616987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e g Fye fee o & -

o [ 3, faeht 39 25-45 =61 % o9 8, vk i @ sl 2

FYF 11 ; AT FEwdl T9% TF 61 Tgeil el 8 AR T 7 T A&l a1 9 Fdl 8, I8
T e T ° @l

ITRE B o HATclh |, 1 fou mu fomedt § & T99 IUIE I H1 999 HIfaw

(1) =94 1 3R 11 2H1 581 2

(2) U 1 30 11 T 7Ted §

(3) YA 1 @el 7, 3 H 11 Ter
(4) w4 1 Ted 8, 3 99 11 =58
Options :

92090667125. 1
92090667126. 2



92090667127. 3
92090667128. 4

Question Number : 83 Question Id : 92090616988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement—| : Budget can help in allocation of income but it cannot make an
inadequate income adequate.

Statement—Il :  Families with limited income tend to relinquish all pleasures
until their basic needs are met.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4

Statement | is false but Statement Il is true

Options :

92090667129. 1
92090667130. 2
92090667131. 3
92090667132. 4

Question Number : 83 Question Id : 92090616988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bk

HYA 1

FHY feu MU & -

: @A AW % AE H HEg L Hehdl & (b I IUAH ™ HI TAMH TE
Hehdl 2|

Fy 11 : Hifga 31 9t 9iER G giadnsti & @0 S 8, 96 996 6! gol Aavashan

ot &l & Wl g

ITRE HLH % AT °, 419 fou mu fawedi O & 99 IuEE I H 99 Fifan

(1)
(2)
(3)
(4)

Options
9209066
9209066
9209066
9209066

Fgq 1 3 11 51 wel 8

FYA 1 3T 11 51 7Teid &

w4 [ 78 7, W A 11 7ot 2
F49 [ oA &, W F9T 11 T8 §
7.129.1

7130. 2

7131.3
7132. 4

Question Number : 84 Question Id : 92090616989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct

Given

Marks : 4 Wrong Marks : 1

below are two statements :

Statement—I| : Insects are the main source of natural dyes of animal origin.

Statement—Il :  The dye Tyrian purple is extracted from sea snails and shell

fishes which imparts violet colour.

In the light of the above statements, choose the correct answer from the options

given below :
1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4. Statement | is false but Statement Il is true
Options :

92090667133. 1
92090667134. 2



92090667135. 3
92090667136. 4

Question Number : 84 Question Id : 92090616989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i g Y fe T E

Ho 1 2 SAfas g Al wehfas 1 % ge ' £

we 11 fefem vl o1 wgdt i 3t e st o wafeal Sifvew & s g 2
ITRE HLH o AT °, 41 fou mu fowedi § 9 999 3ugE I #1994 HIfau

(1) =% 1 3R IeH 981 &
(2) % 13RI EH Tod &
(3) HU 1 HE &, 3 FHYH 1 o
(4) = 174 8, 3R HeE [0

Options :

92090667133. 1
92090667134. 2
92090667135. 3
92090667136. 4

Question Number : 85 Question Id : 92090616990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : David Berlo's model has close similarities to Aristotelian
model.
Statement—Il : Berlo's model includes traditional four elements-source,

message, channel and receiver.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement 1l are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement |l is true
Options :

92090667137. 1
92090667138. 2
92090667139. 3
92090667140. 4

Question Number : 85 Question Id : 92090616990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 e few o E
Fuq 1:  Sfag well & Ofed 3 3@ & Hisd § 99E9d £l
=y 11 . e & Aisd ° 9F TR9HS acd & |id, oW, WIS 3T Il

ITIH HYH % ATark o, 4 fou mu fawedi & & w99 I9gE I #1994 Hifag

(1) =9 1 3 1 SH 581 &
(2) H¥F 1 3R I SH T @
(3) w18 2, wife w39 11 7/ed 2
(4) weF L7ed 2, oifee ®aa 11 &8 8
Options :
92090667137. 1

92090667138. 2
92090667139. 3



92090667140. 4

Question Number : 86 Question Id : 92090616991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are types of evaluation?
A. Concurrent evaluation
b. Extensive evaluation
c. Ex-postfacto evaluation
d. Indicator evaluation

Choose the most appropriate answer from the options given below :

1.  A,Bonly

2. A Conly

3. B,Donly

4. C,Donly
Options :

92090667141. 1
92090667142. 2
92090667143. 3
92090667144. 4

Question Number : 86 Question Id : 92090616991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT I Ffiha AT 1 Tl & -

(A) T

(B) AT e
(C) St gedre
(D)  H= qeATHA

= feu mu faseui § § 9 39 %1 =5 Fifaw
(1) %ae (A), (B)
(2) = (A), (C)
(3) ==« (B), (D)
(4) == (), (D)

Options :

92090667141. 1
92090667142. 2
92090667143. 3
92090667144. 4

Question Number : 87 Question Id : 92090616992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the components of energy expenditure among the following :
A. Body composition
B. Basal or resting energy expenditure
C. Thermic effect of food
D. Activity thermogenesis
E. Nutritional status
Choose the correct answer from the options given below :
1. A,D,E only
2. B,C,Donly
3. A C,Donly
4. C,D, Eonly



Options :

92090667145. 1
92090667146. 2
92090667147. 3
92090667148. 4

Question Number : 87 Question Id : 92090616992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 feu U faseql @ @ S =@ & " Bl TEAH ¢
(A) IR g

(B) 3MURE 3R 3 FH Fiell Sl =4

(C) 9= =1 351 9919

(D) wifafafy amiemfas

(E) o 7 feufa

= feu o fawewl @ § w8 I F =999 e
(L) = (A), (D), (E)
(2) @ (B), (0), (D)
(3) = (A), (C), (D)
(4) &&= (C), (D), (E)

Options :

92090667145. 1
92090667146. 2
92090667147. 3
92090667148. 4

Question Number : 88 Question Id : 92090616993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



While choosing a light lamp, what points should be considered from the following

options?
A. A sturdy base
B. Alamp with a diffusing bowl which gives less glare

C.
D.

Lamps which are without diffusers

Lampshades which are similar or contrast in colour and texture

Choose the most appropriate answer from the options given below :

1. A,C,Donly

2. B,C,Donly

3. A,B,Donly

4. A, B,Conly
Options :

92090667149. 1
92090667150. 2
92090667151. 3
92090667152. 4

Question Number : 88 Question Id : 92090616993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= fou v faseat 9 o ey oty 944 |, T foehedl &1 @@ § wEen g -

(A)
(B)
(©)
(D)

UF IE AR

U 419 A1 T el el | E d1fsh 30 U9 i A 9 8 el
T fammes &1 e

du-siesk 1 56 71 3 e § wuE B e fafis 2

e feu v Tawedi O @ w3 1 999 Hifau -

(L)
(2)
(3)
(4)

4 (A), (C), (D)
%ad (B), (C), (D)
e (A), (B), (D)
=ad (A), (B), (O)

Options :



92090667149. 1
92090667150. 2
92090667151. 3
92090667152. 4

Question Number : 89 Question Id : 92090616994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the milestones of language development in infants in the order of their
occurence.

A. Cooing

B. Babbling

C. Holophrases

D. Telegraphic speech

Choose the correct answer from the options given below :

1. AB.C.D

2. ADC,B

3. BADC

4. C,B,AD
Options :

92090667153. 1
92090667154. 2
92090667155. 3
92090667156. 4

Question Number : 89 Question Id : 92090616994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forgat @ 5= g = | vy 1 faea g 8, 9 9E %y ° sFafedd #i -
(A) Tres

(B)  qaer

(C) <t &l "o

(D) aTHETS T

(E) == Ao

e Tou T fasedl ° ® wE I &1 999 Hifau
(1) Faa (A), (B), (D). (E)
(2) e (A), (C), (D), (E)
(3) &=« (B), (A), (C), (D)
(4)  F=Fa (B), (A), (D), (E)

Options :

92090667153. 1
92090667154. 2
92090667155. 3
92090667156. 4

Question Number : 90 Question Id : 92090616995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



With reference to values, identify the statements which are correct :
Attitude is a subset of values

Factual values are also known as descriptive values

Intrinsic values are not important

Values are same all across the globe

m o o & »

Values are desirable and satisfying
Choose the correct answer from the options given below :

1. A,B,Conly

2. B,D,Eonly

3. C,D,Aonly

4. A,B,Eonly
Options :

92090667157. 1
92090667158. 2
92090667159. 3
92090667160. 4

Question Number : 90 Question Id : 92090616995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e feu T wuEi G & & wd R, 3% T -
(A) wfiEha qeai #1379 g

(B) AUTTHF Hodl I GUHTCHS qodi & A1 F ff FH 1 2
(C)  sFai-fed geat weeui & 2|

(D) dfyas W W gedi § §9H 2l

(B) oo famarfia i g g 2

g feu e fa=edl | 9 98 39 =1 =34 Fifaw -
() == (A), (B), (C)

(2) = (B), (D), (E)

(3) =ad (C), (D), (A)

(4) %=« (A), (B), (E)

Options :

92090667157. 1

92090667158. 2

92090667159. 3
92090667160. 4

Question Number : 91 Question Id : 92090616996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The key functions of Gram Panchayat include which of the following?
A. Law and order
b. Civic
c. Welfare
d. Development

Choose the most appropriate answer from the options given below :

1. A,B,Conly

2. B,C,Donly

3. A B C,Donly
4. C,Donly



Options :

92090667161. 1
92090667162. 2
92090667163. 3
92090667164. 4

Question Number : 91 Question Id : 92090616996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
™ J=Ed & gEd %9 8, 91 Gefafga @ 8 aftifoa #

(A) A 3R e

(B) AriiE
(C) e
(D) Ta=wm

= feu o fashedi § € F& I H1 =TT Hi9C
(1) &Fa (A), (B), (O)

(2) == (B), (O), (D)

(3) &= (A), (B), (C), (D)

(4) S|« (0), (D)

Options :

92090667161. 1
92090667162. 2
92090667163. 3
92090667164. 4

Question Number : 92 Question Id : 92090616997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In context of a committee constituted to review working of Panchayati Raj, which
of the following statements are correct?

It was chaired by Ashok Mehta
It was constituted in the year 1997
The committee suggested two-tier model

It gave emphasis on Mandal Sabha

m o o m »

Block Samiti was formed during this time

Choose the correct answer from the options given below :
1. A.B,Conly

2. A, ,B,Donly

3. B,C,Donly

4. A,C,Donly

Options :

92090667165. 1
92090667166. 2
92090667167. 3
92090667168. 4

Question Number : 92 Question Id : 92090616997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TS % HHEE W [FiHER i % fou v afufs & 1eq & ged d fefafea § @
FH H HYA 3Fad €7

(A) THe! IwAEET 9 HEal A #i ot

(B) 391 a4 a4 1997 H 30 o1

(C) afafa 7 foatm arser 6t s & o

(D) 35 " |H W 1G] A1 g

(B) = =fufa <t wu=r 38 wfufa % gema w i =)

g feu mu fa=eql § 9 9E 3T %1 999 Hifa
(1) == (A), (B), (O)
(2) a9 (A), (B), (D)
(3) =« (B), (C), (D)
(4) = (A), (C), (D)

Options :

92090667165. 1
92090667166. 2
92090667167. 3
92090667168. 4

Question Number : 93 Question Id : 92090616998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—Il :

List-I List-lI
(Body system) (Functions)
(A) | Circulatory (I) | Defense against foreign invaders
(B) | Urinary (I1) | Coordination of body function through

electrical signals and release of
regulatory molecules

(C) | Immune (li1) | Transport of materials between all cells
of the body
(D) | Nervous (IV) | Maintenance of water and solutes in the

internal environment, waste removal

Choose the correct answer from the options given below :

1. (A(); (B)IV); (C)-(I1); (D)~(1ll)

2. (A)lIl); (B)-(IV); (C)-(1); (D)~(1l)
3. (A(V); (B)-(Il); (C)~(I); (D))
4. (A1) (B)-IV); (C)-(lt); (D)1l
Options :

92090667169. 1
92090667170. 2
92090667171. 3
92090667172. 4

Question Number : 93 Question Id : 92090616998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H#-1% @ get-11 &1 faem it

T=i-1 gt-11
ARG Eap
(A) wfE=m (I) =TE" Ahmeh § Fowem
(B) &= (I1) ¥iix 1 F& ymell I &g Ghal +
(C) frme (I11) ¥ =1 =l =wifvemiat & &=
EH-TEH
(D) @b (IV) iR 4 51 3R faemast &1 aen et
FAT, IS I

Hr= feuw o fawedi # € W@ 30 =1 =1 i

(1) A-D, (B)-(IV), (C)-(II), (D)-(11I)
(2)  (Q)-1), (B)-(AV), (C)-(I), (D)-(1I)
@ (A)-AV), (B)-(D), (C)-(I1I), (D)-(1)
4 W-, (B)-(IV), (C)-(I1D), (D)-(II)

Options :

92090667169. 1
92090667170. 2
92090667171. 3
92090667172. 4

Question Number : 94 Question Id : 92090616999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—II -

List—I List—II
(Resources) (Related concepts)
(A) | Human energy (h Time plan
(B) | Time (1) | Paper and pencil techniques
(C) | Work simplification (I11) | Fatigue
(D) | Money (IV) | Fixed Deposit (FD)

Choose the correct answer from the options given below :

1. (A(I); B)1): (C)(Il); (D)}-(V)

2. (A)(I); (B)(IN); (C)~(II); (D}-(IV)
3. (Al (B)(I): (C)~(IV): (D)=(1I)
4. (A1) (B} (CI-(IV): (D)=(1l)
Options :

92090667173. 1
92090667174. 2
92090667175. 3
92090667176. 4

Question Number : 94 Question Id : 92090616999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 % @1 gt 11 &1 faem it

g1 -11
(A) T=F F (1) =T =
(B) =53 (1) w3 IfEet qe-is
(C) =/ T (I11) JF1ae
(D) == (IV) grafy s

e feu mu fawedi 4 9 98 39 =1 =994 Fifsw -

(1) (A)-(ID), (B)-(I), (C)-(IL), (D)-(IV)
(2)  (W)-(), (B)-(IID), (O)-(ID), (D)-(IV)
(3)  (A)-dID, (B)-(D), (C)-(IV), (;-(1)
4) (WD, B)-aD, (C)-AV), (D)-(1ID)

Options :

92090667173. 1
92090667174. 2
92090667175. 3
92090667176. 4

Question Number : 95 Question Id : 92090617000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—Il :

List—| List-II
(Weaves) (Fabric produced)
(A) | Twill weave (1) | Damask
(B) | Pile weave (1) | Marquisette
(C) | Jacquard weave (1) | Jean
(D) | Leno weave (IV) | Plush

Choose the correct answer from the options given below :
1. (A(V); B)-(II): (C)~(1): (D))

(A1) (B)-(IV); (C)HH1); (DI

(A=(IV); (B)=(1); (C)=(lI1); (D)-(1I)

4. (AI); (BHIV): (C)=(1); (D)-(11)

2
3.

Options :

92090667177. 1
92090667178. 2
92090667179. 3
92090667180. 4

Question Number : 95 Question Id : 92090617000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl-1% =g g=h-11 =1 fem i

g=i-1 -1

L RIE fafda wu=r
(A) et g I =
(B) 9§t g1 (II) wRfFHe
(C) <iF=he gae (IIT) 5
(D) <1 gAaE (IV) e

e fev o fawedl 4§ wE I w1 95 fifaw

(1) (A)-AV), (B)-(I), (C)-(D), (D)-(I1I)
(2)  (A)-AD, (B)-(IV), (C)-(I1I), (D)-()
3 (A)-AV), (B)-I), (C)-(I1ID), (D)-(1I)
(4)  (A)-ID, (B)-(AV), (C)-D), (D)-(1D)

Options :

92090667177. 1
92090667178. 2
92090667179. 3
92090667180. 4

Question Number : 96 Question Id : 92090617001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—] with List—II :

List—I List-II
(Type of disability) (Characteristics)

(A) | Intellectual impairment (1) | Difficulty in movement, speech
and hand functions due to brain
damage

(B) | Autism (1) | Difficulty in reading and writing

(C) | Learning disabilities (11} | Limitation in intellectual
functioning

(D) | Cerebral palsy (IV) | Affects communication, social
interaction and play behaviour

Choose the correct answer from the options given below :

1. (A=) (B)=(1): (C)=(I1); (D}~(IV)
2. (A=) (B)=(IV); (C)=(I1); (D)~(1)
3. (A(IN); (B (CHIV); (D)D)
4. (A(VY): (B)=(1); (C)(I); (D))
Options :

92090667181. 1
92090667182. 2
92090667183. 3
92090667184. 4

Question Number : 96 Question Id : 92090617001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



He-1 % |y get-11 =1 faem i

g1 Hefi-11
ferperrTaT & TR e
(A) dtfgs rgma (I Temm = &4 & HEo 7,
e FAR EYl % HEeE Ad
FHiSE|
(B) Tt (I1) vgd 3 fogy & =igams
(C) iform sreraan (I11) sifgs +F H ThEe
(D) wfEass geTEmE (IV) TaTe, gmifas g9 3N
BN 1 THIfIT T 2|

e feu o fasewl °§ © wE I &1 999 Hifa

(1)  (A)-(ID), (B)-(I), (C)-(II), (D)-(IV)
(2)  (A)-ID), B)-(IV), (O)-1I), (D)-()
(3)  (A)-ID), B)-(D), (C)-AV), (D)-()
(4)  (A)-(V), (B)-(D), (C)-(II), (D)-(11I)

Options :

92090667181. 1
92090667182. 2
92090667183. 3
92090667184. 4

Question Number : 97 Question Id : 92090617002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List=I :

List-I List—Il
[Age group of children (Form of aggression)
(years)]
(A) | 0-2 (I) | Most often aggression is witnessed
after conflict with peers
(B) | 24 (1) | Dominant form of verbal aggression
(C) | 4-6 (lI) | No aggression
(D) | 6-8 (IV) | Physical aggression at its peak

Choose the correct answer from the options given below :

1. (A(IV) (B)(1): (C)(I): (D))

2. (A(I); (B (C-(1): (D)-(1V)

3. (AR(I); (B)-(IV): (C)=(11); (D))

4. (A=(IVY; (B)=(Il): (C)=(IN); (D)~(1)
Options :

92090667185. 1
92090667186. 2
92090667187. 3
92090667188. 4

Question Number : 97 Question Id : 92090617002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tefi-1% =g F=-11 =1 ferm i

-1 11
= & A (I H) AT T TN
(A) 0-2 (I) 9E: 919 999 & 9¢ ATHES oEl 740
(B) 2-4 (II) afaes 3msRaT gEF €9 | g7t
(C) 4-6 (I11) =g HABHH &
(D) 6-8 (IV) TR 3ATshHeaT A9 =0 T

9 few o fawedl 4 € @@ I w1 =9 i

(1) A)-AV), B)-(), (C)-(I1), (D)-(III)
(2)  (A)-ID), (B)-1I), (C)-(1), (D)-(IV)
3  Q-aID, (B)-AV), (C)-(1), (D)-()
(4)  (A)-AV), B)-(D), (O)-(III), (D)-(D)

Options :

92090667185. 1
92090667186. 2
92090667187. 3
92090667188. 4

Question Number : 98 Question Id : 92090617003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List-II :

List—I List-II
(Puppetry form) (State of origin)
(A) | Kalasutri (I) | Rajasthan
(B) | Kath putli (I) | Tamil Nadu
(C) | Bommelatta (1) | West Bengal
(D) | Puttal Nach (IV) | Maharashtra

Choose the correct answer from the options given below :

1. (A=) B)-(I); (C-(N); (D}-(IV)
2. (A-(IV); B)=(1); (C)=(IN); (D)=(Il)
3. (AR(IV): (B)(1); (C)=(11); (D))
4. (A)-(); B)-=(I1): (C)~(1); (D)}-(1V)
Options :

92090667189. 1
92090667190. 2
92090667191. 3
92090667192. 4

Question Number : 98 Question Id : 92090617003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TH1-1 % w19 F=-11 &1 foe Hifag

g=i-1 i1

el & TR ERERIED
(A) eIt (1) T="=
(B) aqaet (I) aferTg
(C) wmeree (111) ufFay &
(D) goe= (IV) HeEnreg

e feu o famedl d 9 W& I w1 959 Hifaw

(1) (A)-AD, (B)-(D), (C)-(11I), (D)-(1V)
(2 (A)-aV), B)-(), (C)-(1D), (D)-(1I)
(3)  (A)-(V), (B)-(I), (C)-(II), (D)-(11I)
(4)  (A)-dID, (B)-(1D), (C)-(D), (D)-(IV)

Options :

92090667189. 1
92090667190. 2
92090667191. 3
92090667192. 4

Question Number : 99 Question Id : 92090617004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List—Il -

List—I List—II
(Statistical term) (Description)

(A) | Statistics (I) | Numbers which occur frequently in
population

(B) | Mode (Ily | Arithmetic average

(C) | Freguencies (ll1) | Calculus of observation

(D) | Mean (IV) | Value of the item that has highest
frequency

Choose the correct answer from the options given below :

1. (A (B (CH(IV): (D)

2. (A)-(lI); (B)(IV); (C)-(ll); (D)~(1)

3. (Al B-(IVY; (C)~(1); (D))

4. (A (B)HI): (CHHIVY: (D)(II)
Options :

92090667193. 1
92090667194. 2
92090667195. 3
92090667196. 4

Question Number : 99 Question Id : 92090617004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 @ ge-11 1 faems Hifs

T=-1 g=-11
iferh ue gframET
(A) wiferh () S=&E 1 st 31 9l JeEn
(B) @Eo® (I1) ST 3fEd
(C) IHERA (I1I) ST - e
(D) =Ted (IV) e R ame aeg &1 9o

e few T fawedi 9 & W 39 w1 =59 i

(1) (A)-D, B)-(ID), (C)-(IV), (D)-11I)
(2)  (A)-(ID), (B)-0@V), (C)-(1), (D)-I)
(3)  (A)-ID, (B)-(AV), (C)-(D), (D)-(I)
(4)  (A)-ID, (B)-@), (C)-(IV), (D)-(II)

Options :

92090667193. 1
92090667194. 2
92090667195. 3
92090667196. 4

Question Number : 100 Question Id : 92090617005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In what order would a physician take the following for steps treating child with
asthma?

A. Prescribe medication

B. Identify and control environmental allergens and irritants
C. Educate children and parents about the condition

D. Follow up with the child

Choose the correct answer from the options given below :

1. C,A,B,D

2. CBAD

3. ABCD

4. A C B.D
Options :

92090667197. 1
92090667198. 2
92090667199. 3
92090667200. 4

Question Number : 100 Question Id : 92090617005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forelt o= o 3R F 3 & SuH U Tafhoas feg wa 1 f=fufga weqt #1 et -
(A) s =@

(B) Wi Wesiehl 3T ShI9ahi ol TE==HT 3R FEfa e

(C) &= 3R 39 Amar-fuan =i feufa % an § fafa s

(D) == % W9 FIIAT THA|

e feu mu fomewl # & 98 I %1 999 Hifa

(1) (©), A), B), D)
(2) (C), (B), (A), (D)
(3 (A, B), ), D)
4) @A), (©), (B), (D)

Options :



92090667197. 1
92090667198. 2
92090667199. 3
92090667200. 4



